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What you'll Learn About
How to find the error for a series that alternates

! 19 Give the pithe series for f!xf_l = arctan(x) centered at x =0
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2, Find the approximation for P(.1) = 4 ! Pl" % 0
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4, How accurate is the approximation. I 01 % -.
5 What is the value of the next term of the polynomial ul x =1
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T Give the first 2 terms of r,‘:(g eries for f(x) = arctan(x) centered at x = ()

P(xd= x ~ X
2, Find the approximation for P( 1)z 0996 ¢ "

3. Findthefil) = arctan(V)z .094LL 86525
4. How accurate is the approximation. ‘ afl CéM(_ol) = fl.(' l‘\ i .D UDDD ‘ q %5%

-2 What is the value of the next term of the polvnomial at x=.1
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1. Give the first 3 tenm of the aene’s for ftx}’. / arctan(x) centered at x =0
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2 Find the apprommalmn for P(.1) ( ) 0 9Lt g6LL
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3. Findthe f(.1):.009L68525
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5 What is the value of the next term of the polynomial at x =.1
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4. How accurate is the approximation.
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H 1(x) = Siax
£3(x)= Cosx
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LDz sinx —
L'(x) = cosx —
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1. Give the first 4 terms of the series for f(x) = arctan(x) centered at x = ()
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= Use the alternate estimation theorem to determine H'u
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Give the first 4 terms of the series for f{x) = sin(x) centered at x =
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; Use the alternate estimation theorem to determine the
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x=2
L()= x"" — N2
ry=-x2 = =y
=32 Y
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09 ()= 24% 223y
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f(x)=— centered at x =2
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Given the function, find the fourth order pol {nnmial b Y
ol o 11 % }( =3
A R L e s e )
a 3‘. ’

Use the alterate estimation theorem to find a formula for the error bound
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